TRIGONOMETRIC FORMUL A
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Right Triangle Oblique Triangles
Solution of Right Triangles
For Angle A. sin= %-cos=%,tan= %» cot = —:-:—, sec:% »cosec = -
Given Required
2
ab AB,c tanA:-% =cotB, c = \la2+b2 =a\}1+%
’ 2
a.c ABb sinA:%:cosB,b: V(c+a)(c-a) — 1-"—2
[
Aa B,b,c B=90"-A b=acotd, c= —
sin A
Ab B.a,c B=90"-A,a=btanA, c = b
cos A
Ac B.ab B=90"-4A,a=csind, b=ccosA
Solution of Oblique Triangles
Given Required >
- asinB  ~_ o0 _ asinC
ABa b,c,C b= _sinA ,C=180°-(A+B),c= A
Aab BeC sinB=2504_ - 180°- (4 + B, c= 2SINC_
a sind
(a-b) 1 (A+ B) inC
. ! a-b)tan 5(A + a sin
lb, s £y = T, - = = = .
a,b,C AB,c A+B=180 Ctanz(A B) Y ¢ =P
ab,c AB.C g ST tbee , sin lA:'\I Ls-b)s-c) ,sin B= - "\’ fs-a)s-c) ,
2 2 be 2 ac
C=180"-(A+ B
ab,c Area 5= a_+2b+_c__ ,area="\ s(s-a)(s - b)(s - c)
Ab,c Area area = bc+nA
AB.Ca Area area = a? sinB sinC
2 sin A

b 1- b T
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CURVE FORMULA

D = Degree of Curve

1° = 1-Degree of Curve
2° = 2-Degree of Curve
P.C. = Point of Curve

P.T. = Point of Tangent
P.l. = Point of Intersection

L
T
E
R
L.C.
M
c

d

= Intersection of Angle,
Angle between to Tangents
= Length of Curve

= Tangent Distance

= External Distance

= Radius

Length of Cord

It

Length of Middle Ordinate
= Length of Sub-Cord
= Angle of Sub-Cord

L. Tl mp _;_ s L.C.

R= ]
ZCOSTI

|
2sin—1
m2

LE _Rsin Lp1r=r=5730,p2 = 3130 p_ 5730
2 2 2 R

c=2Rsin —1t
2

=2Rsn LTI E= L §ay L
L.C.—2RsmTI.E-R(scc 5 I ]),—Rsac:2 R

MISCELLANEQUS CONVERSION FACTORS

1 Meter = 3.280833 feet
1 Foot = 0.304801 meters
1 Link = 0.66 feet
1 Chain = 66 feet
80 Chains = 5280 feet = 1 mile
1 Acre = 43,560 square feet
640 Acres = 1 square mile
1 Kilometer = 0.621 miles
1 Mile = 1.609 kilometers
1 Hectare = 2.471 or 2 1/2 acres
m = 3.14159
1 Radian = 57.2958 degrees
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